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1) bare cart
event: 

5.00
N

300

d = 10.0 cm

A 525 g cart is pulled 
with a 5.00 N force 
directed at 300 above 
the horizontal
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1) bare cart

mc = 525 g
              .525 kg
                   Fw = 

v1 = 0
v2 = ?
d = 10.0 cm
            .100 m
Fa 5.00 N at 30.00
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TM ­ accel
2nd ­ ΣF = ma

  Fll + Ff = ma
   a = Fll + Ff/m

   a = 4.33N + (­1.06N)
 

TM ­ rest
1st ­ ΣF =0
Fw + FN + F = 0
FN = ­(Fw )­(F)
FN = ­(­5.15N)­(2.50N)
FN = 2.65 N

 v22 = v12 + 2ad
 v2 =  2(6.23 m/s2)(.100 m)
 v2 = 1.12 m/s 

event: accelerating 
cart by a 5.00 N force
 at 30.00 from horizontal

questions about event: "T"chart
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Fll = cos 30(5.00N)
     Fll = +4.33 N

F  = sin 30(5.00N)
     F  = +2.50 N
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	Page 1

